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1. With the data in the given figure, AOPR = AQPR by which property?
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(i) ASA Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) not congruent (v) SSS Congruency

2. With the data in the figure, ACDF = ADCE by which property?
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(i) not congruent (ii) ASA Congruency (iii) SSS Congruency (iv) RHS Congruency (v) SAS Congruency

3. With the data in the given figure, AGJH = AG]JI by which property?
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(i) SAS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) not congruent (v) SSS Congruency



4. With the data in the figure, ABDE = ABDC by which property?
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(i) SSS Congruency (ii) not congruent (iii) ASA Congruency (iv) SAS Congruency (v) RHS Congruency

5. In the given figure, AFGH = ASRQ. Which of the following are true?

a) LF = LQ
b) GH = RQ
c) LH=4Q
d) GH = SR
e) LG = LR
F Q

@
I

5

(i) {b,c,e} (i) {a,b} (i) {d,c} (iv) {a,b,c} (v) {a.de}

6. With the data in the figure, AHJK = AJHI by which property?
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(i) SSS Congruency (ii) SAS Congruency (iii) ASA Congruency (iv) not congruent (v) RHS Congruency

7. With the data in the given figure, APGH = AQHG by which property?
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(i) SSS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency (v) not congruent




8. With the data in the figure, AAED = ABEC by which property?
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(i) ASA Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) SAS Congruency (v) not congruent

9. With the data in the figure, AAOB = ACOD by which property?
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(i) ASA Congruency (ii) not congruent (iii) SSS Congruency (iv) RHS Congruency (v) SAS Congruency

10. With the data in the given figure, ACDG = ACEF by which property?
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(i) SSS Congruency (ii) ASA Congruency (iii) not congruent (iv) RHS Congruency (v) SAS Congruency

11. With the data in the given figure, AIK] = AJLI by which property?
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(i) not congruent (ii) ASA Congruency (iii) SAS Congruency (iv) SSS Congruency (v) RHS Congruency




12. With the given data in the figure, AVCD = AUDC by which property?
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(i) RHS Congruency (ii) SAS Congruency (iii) not congruent (iv) SSS Congruency (v) ASA Congruency

13. Which of the following are true?

a) Area of a convex polygonal region is equal to the sum of the areas of all triangles formed by joining the
vertices of the polygon with an interior point.

b) A polygonal region can be divided into a finite number of triangles in a unique way.

c) Area of the union of two polygonal region is not equal to the sum of the individual area.

d) Area of the union of two polygonal region is the sum of the individual area.

(i) {b,d,a} (i) {a,c} (i) {b,a} (iv) {d,c} (v) {b,ca}

14. With the data in the figure, ALOM = ANOM by which property?
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(i) ASA Congruency (ii) SAS Congruency (iii) RHS Congruency (iv) SSS Congruency (v) not congruent



15. In the given figure, which pair of triangles are not congruent ?
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figl fig 2

(i) fig2 (i) fig3 (i) fig4 (iv) fig1

16. With the data in the given figure, APQS = AQPR by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) not congruent (iv) ASA Congruency (v) SAS Congruency

17. With the data in the figure, AOPS = AOQT by which property?
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(i) SSS Congruency (ii) ASA Congruency (iii) not congruent (iv) SAS Congruency (v) RHS Congruency




18. With the data in the given figure, AOIH = AOGF by which property?
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(i) SAS Congruency (ii) ASA Congruency (iii) RHS Congruency (iv) SSS Congruency (v) not congruent

19. In the given figure, which of the following is true?
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(i) AKMN = AMKL (ii) AKNM = ALMK (iii)) AKNM = AKLM (iv) AKMN = AKML (v) AKMN = AKLM

20. With the data in the figure, AFIG = AHIG by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) not congruent (v) SAS Congruency



21. In the given figure, which pair of triangles are not congruent ?
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(i) fig4 (i) fig2 (i) fig3 (iv) fig 1

22. In the given figure, AEFG = AQRS. Which of the following are true?

a) SQ=16cm
b) QR =16 cm
c) SQ=15cm
d) RS =16 cm
e) RS =14 cm

f) QR =14 cm
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(i) {d,b,c} (ii) {f,a,e} (iii) {a,b} (iv) {b,c,e} (v) {d,c}

23. With the data in the given figure, ABCE = ABDE by which property?
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(i) SSS Congruency (ii) ASA Congruency (iii) not congruent (iv) RHS Congruency (v) SAS Congruency



24. With the data in the figure, AGOH = AIOJ by which property?
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(i) RHS Congruency (ii) not congruent (iii) SAS Congruency (iv) SSS Congruency (v) ASA Congruency

25. In the given figure, AABC is an obtuse angled triangle. AABD = ACBD by which property?
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(i) not congruent (ii) ASA Congruency (iii) SAS Congruency (iv) SSS Congruency (v) RHS Congruency



Assignment Key

1) (iv) 2) (i) 3) (v) 4) (ii) 5) (i) 6) (iv)
7) (iii) 8) (v) 9) (ii) 10) (iv) 11) (v) 12) (i)
13) (ii) 14) (v) 15) (iv) 16) (iii) 17) (iii) 18) (ii)
19) (i) 20) (iv) 21) (i) 22) (iv) 23) (iv) 24) (ii)
25) (iv)
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